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Name

Class

Date

Practice

Form G

Multiplying Special Cases

Simplify each expression.

1. (x+7)

4.(2s +4)

7. (a-5)

10. (3m — 4)*

The figures below are squares. Find an expression for the area of each shaded

region. Write your answers in standard form. -

13.

15.

2. (w+9)
5.(3s + 1)

8. (k-10)

1. (6m=2)

X+ e 14,
x-1
X+ 2
x-1
16.
X+ 1
x+5
X+ 1
x+ 5

X+ b

[]x-2

xX=2

3. (h +3)
6. (55 +2)°
9. (n - 4)*

12. (4m - 2)

X+0b

X+ 7

17. A square brown tarp has a square green patch green in the corner. The side

18.

length of the tarp is (x + 8) and the side length of the patch is x. What is the
area of the brown part of the tarp?

A square red placemat has a gold square in the center. The side length of
the gold square is (x — 2) inches and the width ot the red region is 4
inches. What is the area of the red part of the placemat?
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Name Class Date
Practice (continued) Form G
8- Multiplying Special Cases
Mental Math Simplify each product.
19. 48 20.31° 21.29°
22, 52° 23, 63° 24, 41°
25. 89° 26. 199’ 27. 302

Simplify each product.

28. (v +7)(v-=T)

31, (x + 12)(x - 12)

4. (m+1)(m=1)

37. (p + 20)(p - 20)

29. (b +2)(b-2)

32. 8+¥)(8-y)

35.(a+4)a-4)

38. (f— 18)(f+ 18)

Mental Math Simplify each product.

40. 61 - 59

43.74 - 66

Simplify each product.

46. (m + 4n)2
49. (s + 70

52, (X + 58)(r* = 55)

41.27 - 33

44. 597 - 603

47. 3a + b)?

50. (p° - 8¢°)°

53. (6p” +2q)(6p* - 24)

55. Error Analysis Describe and correct the error
made in simplifying the product.

56. The formula V = %nr

with radius r. Find the volume of a sphere with radius

x + 9. Write your answer in standard form.

gives the volume of a sphere

30.(z-9)(z+9)

33. ((— 15)(7 + 15)

36.5+g)5-¢)

39. (2¢ + 3)(2c —3)

42.202- 198

45.85-75

48. (65 - 1)’

51. (e* + £}

54. 3w* = 23w + 2%

(Ex+T)2x~T7Y

= Ax%= 28x-~49
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Name Class Date

8 4 Practice Form G
Multiplying Special Cases A

Simplify each expression.

1. (x + 7)? 2. (w+ 9)? 3. (h + 3)?
X2+ 14x + 49 w2+ 18w + 81 h¥+'6h'+ 9"
4. (25 + 4) 5. (3s + 1)2 6. (55 + 2)?
452 431655+116 952 $165 41 255247205+ &
7. (a — 5)? 8. (k — 10)? 9. (n — 4)2
a4 =10a + 25 k#=120k + 100 n4=18n "+ 16
10. (3m — 4)? 1. (6m — 2)? 12. (4m — 2)?
9Iméi=124m + 16 36m2 - 24m + 4 16m2'=16m + 4
The figures below are squares. Find an expression for the area of eac}) sh&ded ’ 8 _— u m
region. Write your answers in standard form, 3‘](1_@[1 i Vo a - 8 % 8 1\
f )
~ r 1 1 ~ 14. -
2 \ A n 7\ X+ 2 6x + 3 " xX+6 "-.
== A ) [ A~ )
(s wed) (201D _ b))
e T C T e il
( (Dﬂ')/’]ﬁ:}) )Z_ x+2 X+6 Vs f )
w__w.ds x =1 X ( I;Z/X+5L

15. B — 16.

~ Aa N \ SRR JexEasy ) AL ,XQ_ +4\
/ 2 X+25\_(X*9\X+’/ x+1 X+5 DX—Z x+7 (/ng_" L‘X.{—‘"{q) ( Lb( -
| // ;‘/IO//Z— L\ 4! x-2 \ ‘—'T'_(T?\
. A Y _J_.-' . I, l::_) ~ | B ‘,J .___;'
f‘jf){ 12. - x+5 x+17 \]J_//.}-H -
17. A square brown tarp has a square green patch green in the corner. The side

__— length of the tarp is (x + 8) and the side length of the patch is x. What is the
area of the brown part of the tarp? 16x + 64 M\ﬂ.’

—

|' 18. A square red placemat has a gold square in the center. The side length of the
gold square is (x — 2) inches and the width of the red region-is.4-inches. What
N is the area of the red part of the placemat? ( x>+ 4xi#112isquarejinches

- !(93* (U 1
e — i - 9(){» 1% ]57!
1t 1 | Q)f?lmm

(o )~ ) e hes
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V=3
=5 | f @ ith radius r
\\/ %m[ ’U“Tq)(ﬁ i)radms xMW@i@ﬂ%ﬂdmd form.
L ]I : ,7: 3 36mx% + 3247X F 9727

- j(f)(;kﬂ%%’ré) /t@‘f—'
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Class Date

8 4 Practice (continued) Form G
I el . )
Multiplying Special Cases
Mental Math Simplify each product.
19. 482 2304 20. 312 961 21. 292 841
22. 522 2704 23. 632 3969 24. 412 1681
25. 892 7921 26. 1992 39,601 27. 3022 91,204
Simplify each product.
28. v+ (v —7) 29. (b + 2)(b — 2) 30. (z — 9)(z + 9)
=49 b2 -4 221=181
31. (x + 12)(x — 12) 32. 8+ y)(8 —y) 33. (r — 15)(¢ + 15)
x&r=4n 641=1y2 = 42b
3. (m+ 1)(m - 1) 35. (a + 4)(a — 4) 36.(5 + g)(5 — g
m2=1 a2 =16 251='g?
37. (p + 20)(p — 20) 38. (f — 18)(f + 18) 39. (2¢ + 3)(2¢c — 3)
pZi="300 f2—324 4c2i=19
Mental Math Simplify each product.
40. 61 - 59 41. 27 - 33 42. 202 - 198
3599 891 39,996
43. 74 - 66 44. 597 - 603 45. 85 - 75
4884 359,991 6375
Simplify each product.
46. (m + 4n)? 47. (3a + b)? 48. (6s — £)?
m2 + 8mn + 16n2 932 +'6ab + bz 3652u—sil 25 il i’
49. (s + 7£)? 50. (p° — 8¢°) 51. (e* + f2)?
s2 4145t 149t p'Y=16p>g3 + 64q° edit 2edf i
52. (2 + 55)(r2 — 55) 53. (6p% + 2g)(6p> — 2q) 54, 3w* — 23)(3ut + 28)
g 36pt="14q° 9wy z" p\

55. Error Analysis Describe and correct the/e

made in simplifying the product.

The x terms ¢

56 The formula

/r”X ‘f'/\

V= ém gives the volume of a sphere

(2x+7)2 7) r)

should have a sum of ze !ug“ - 49 = 4"2( 28x (\ :
4 )

l"md the volume of a sphere with
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